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Total number of States in India are :
(1) 29
2 27
3) 25
4) 21

Who was the first speaker of Lok
Sabha ?

(1) Sardar Hukam Singh

(2) Bali Ram Bhagat

(8) G.V.Mavalankar

(4) Sir Shadi Lal

How many official languages does

United Nations Organization (UNO)
have ?

(1) 6

2) 5

3) 10

4) 8

Which of the following A rticles of the

Constitution of India provides for
'Equal Justice and Free Legal Aid ?

(1) Article 39
(2) Article 39A
(3) Article 41
(4) Article 42

4
I

[A-3]

TR H el T &

(1) 29

(2) 27

(3) 25

4) 21

R Tk 99T o YW Avae (TR
F 4?

(1) 9GR g9 &g

(2) el TH T

(3) i, <. HEHRT

(4) T MR A

P T G T R e e
2

1) 6

(2} 5

(3) 10

“4) 8

g wiaue @ fFefated fma sgess
H goH = SR g A SEe &
TEUH 772

(1) =85 39
(2) DR 39(H)
(3) TT=% 41
(4) AT=5% 42

BLBHJ-EE-2017/500




n

Who is the guardian of fundament al

n

rights enumerated in the Indian

Constitution ?
(1) Supreme Court
(2) Parliament
(3) Prime Minister
(4) President
6. The Head quarters of WTOisat: 6.
(1) Geneva (Swifzerland)
(2) Washington D. C.(U.S.A)
(3) London (U.K.)
) Beijing (China)
7 The Chief Justice of India is : 7.

(1) Justice K.G. Bala Krishnan
(2) Justice S.H. Kapadia

(8) Justice J.S. Khehar

(4) Justice T.S. Thakur

8. 'My Presidential Years' book was 8.

written by :

(1) Mulak Raj Anand
(2) R.Venkataraman
(3) A.P.J Abdul Kalam

(4)" Pranab Mukherjee

BLBHJ-EE-2017/500 [A-4]

qRATS WU | Hifcieh SATERR 1 WA
8?7

(1) S=aqH =T

(2) IR

(3) we |l

(4) T

figq TR ST H GEATH ©:
(1) S (whesete) |
(2) afvime S (D) e

(3) & (g ) #
(4) Afsi (FA) =

E @ e e
(1) Sfeg &. St SRS
(2) Sfted TH. THE. FHIre
(3) Sfeed o T R

(4) ™ 2. TE. 3T
N Tl T @ AN TS IR B
sEs o

(1) g6 TS SAT=

(2) 3. ATehTHA

(3) T . I 3TFA HeH
(4) F @




10,

11.

12.

Which amendment of the Constitution
of India inserted a new Article 21A

providing Right to Education ?
(1) 86th Amendment
(2) 87th Amendment
(3) 88th Amendment
(4) 89th Amendment

Who 1s the 21st Lt. Governor of
Delhi ?

(1) Tajendra Khanna

(2) Anil Baijal

(3) A.B. Singh

(4) Najeeb Jung

Who is the present Australian Prime
Minister ?

(1) dJullia Gillard

(2) Kelvin Rudd

(3) Malcolm Turbull

(4) None of these

The Earth Hour is observed on :
(1) May 25

(2) March 25

(3) February 25

(4) June 25

9,

10.

11,

12,

[A-5]

I giaud & ey o@eiaE 9 s
T ATT] 2131 Srer T Ty fan
1 ATFR T garum 272

(1) 86a1 FemEA

(2) 874 HeNHA

(3) 88aT HYMEA

(4) 894 HeMeH

feeelt & 219 IU-TTE FH ©?

(1) ao= @ |

(2) At astel

(3) w &t fog

(4) TitE S

R feran & HisEr guEH FiF 2
(1) e frears

(2) ®dfa &

(3) WIS XA

(4) i ot T

geaft s @1 A HART S 87
(1) 25 =g
(2) 25

(3) 25 wHEH
(4) 25 A
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13. Where in the headquarter of "The 13, WX &1 GG =] q&ned Fel 27

Survey of India' Located ?

(1) SEg
(1) Jaipur \

(2) =®UEA
(2) Dehradun

3 %EI]G]E{
(3) Hyderabad 3)
(4) New Delhi (4) T feeett

14. P.M.Narendra Modi inaugurated the 14, FHM W3l = AR 4 ffg w1 d s
country's longest Chenani Nashri ! Werd el Go T R ELCICES|

Tunnel in which state ? fean ?
(1) Himachal Pradesh 1) fearaa s
(2) Kerala (2) &
(3) Jammu & Kashmir (3) WY iR
(4) Jharkhand (4) FRETS
15. ‘India became a Republic on : 15. 9RA TH TR EFﬂ
(1) 15 Aug, 1947 (1) 15 FTE, 1947
(2) 26 Jan, 1950 (2) 26 S, 1950
(3) 24 Nov, 1949 (3) 24 I, 1949
(4) 26 Jan, 1949 (4) 26 ST, 1949
16. The head of the state in India is : 16. 9RG TF & UUM
(1) Prime Minister (1) 99 w3t
(2) President (2) Tgutd

(3) T I H T

(3) Speake; of Lok Sabhé
(4) 9RA & TSI A

(4) Chief Justice of India

BLBHJ-EE-2017/500 [A-6]




17.

18.

19.

20.

According to Indian Majority Act, a
major is a person who has attained
the age of :

D
@)
@)
(4)

18 years
21 years
15 years
16 years

The World Environment Day. 1s
observed on :

9]
@)
3)
(4)

5th June ‘
4th June .
5th July

5th August

The minimum age for marriage is
that the boy must be and the
girl___

(1)
2
3)
@)

18 years, 21 years
21 years, 18 years
18 years, 18 years
18 years, 15 years

Who is the present Union minister of 20.

Law and Justice ?

(1) P.Chidambaram
(2) Pranab Mukherjee
(3) Pawan Kumar

(4) Ravi Shankar Prasad

17.

18,

192

TA1T =%k AffEm & 31uR U Ao
Ik q9 Bial € @ SEH! S B B
1) 18 9

@) 21 9=

3) 15 T

(4) 16 @I

fava wataRer e W= S €

1) 5 3

(@) 4 3T

@3) 5 IR

(4) 5 3TTRI i

foae % & fau &9 ¥ w1 oY wES
®___ 3R oTgsh! ®I__ Bl =ifeu:
(1) 18 ¥, 21 9

2) 21 9, 18 |

(3) 18 We, 18 |

(@) 18 W, 15 9

T A FTA R A F s 6
HH 772

(1) dt. TeHe

(2) T T

(3) T HAR
(4) A T JHE

BLBHJ-EE-2017/500




21.

22,

23.

24.

BLBHJ-EE-2017/500

Mathematics : Logic ::
(1) Experiment

(2) Laboratory

(3) Facts

(4) Scientist

Food : Stomach :: Fuel:? 22,

(1) Plane
(2) Car
(3) Scooter

(4) Engine

Blind : Visual :: Deaf:? 23,

(1) Auditory
(2) Sound
(3) Hearing
(4) Ears

Fox : Cunning : : Rabbit : ? 24.

(1) Courageous
(2) Timid
(3) Dangerous

(4) Ferocious

Scilence ;7 21,

I GG T o S
(1) wam

(2) AT

(3) deA

(4) sfe

qASH : U2 o2 $uH ;2
(1) S&Ts

(2) HR

(3) X

(4) g

3l : JE :: A/ ;2
(1) g

(2) 3TaTst

(3) ™ 1 ama

(4) &M
AMST : AAF 2 G ?
(1) fewdt

(2) SWIw

(3) @aATH

(4) GEr




25.

26.

217.

28.

5:30 = 7:?
(1) 56
(2) 49
(3) 50
(4) 42

Select the correct set of symbols which
will fit in the given equation: 5?0 ?
375=20.

1) x,x,x
@ -+ X
@) x,+ X
() k%

If 'P' Stands for +, Q for —, 'R' for X
and 'S' for =; which of the following is
correct ?

(1) 36R14S6Q7P4=18
© 16R12P49S7Q9=200
(3) 32S8R9=160Q 12R 12
(4) 8R8P888Q8=57'
3,6,9, 15,24, 39, 63, ?

(1) 100

@) 88

3) 102

(4) 110

25,

26.

27.

28.

[A-9]

5 1300 8T 5 7
1) 56
(2) 49
3) 50
(4) 42

fegi @ I FEA RIS S5 20 7
3?25 =20 R W& B

1) x,x%,X

2 -+ X

@) %, + %

4) +-X

afk P o ® +,'Q -, (R) X I
'S T -3 A PR O - e i €2
(1) 36R14S6Q7P4=18

2) 16R12P49S7Q9=200

8) 32S8R9Y=160Q 12R 12
4 8R8P8S8Q8=57

3,6,9,15,24,39,63,?
(1) 100
2) 88
3) 102

(4) 110
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29.

30.

31.

32.

Find the missing number :

@
@)
(©)
4)

94

104

Choose the odd oné §
(1) C_ube

(2) Square

(3) Triangle

(4) Rectangle

Choose the odd one :

(1) Lion

(2) Horse

(3) Zebra

(4) Tiger

If -'peh" 18 'table',.‘table' is 'fan' 'fan'is
'chair' and 'chair' is 'roof’, on which a
person shall sit 7

(1). Fan
(2) Chair
(3) Table
(4) Roof

BLBHJ-EE-2017/500

30.

31,

w |&Al A FHU|
e

1) 74
2) 84
3) 94
4) 104

oo =1 g w1
(1) &1

(2) =i

3) s

(4) oA

fawm 1 g H
(1) W

(2) s

(3) SEU

(4) =it

32, afzx‘=em ‘O ® u ‘vEr’ 7, g’

[A-10]

w4l & iR ‘' ‘wa’ € @ AR e
A3

(1) LG
2) HHi
(3) A

4 &




>

\ 33.

34.

35.

36.

" (1) East -

/In a certain code, DECEMBER is

written as ERMBCEDE. Which word
will be written as ERMBVENO in
that code ?

(1) AUGUST
(2) SEPTEMBER
(3) OCTOBER
(4) NOVEMBER

Which one of the following diagrams
represents the relationships of cows,

animals and goats ?

) T @)
o (0 .o

X' walks southwards and then turns
right then left and then right. In

which direction is X' moving now ?

(2) West

(8) North (4) South

A person walked 8 km towards west
and turned right and walked 3 km.
Again he turned right and walked 12
km. How far he is from starting point?
(1) Tkm -

(3) 5km

(2) 8km
(4) 6km

33,

34,

35,

36.

[A-11]

s fify=@ $ig 9  DECEMBER
%1 ERMBCEDE faren a1 # i
ERMBCEDE @1 &1 ¥& fa@r sieat

(1) AUGUST

(2) SEPTEMBER
(3) OCTOBER

(4) NOVEMBER

frg § § ®E-w @ TE, Ty SN
SFd ® g @1 e R 2

0@ @

T A B e o R O e L
qea , fr A wEa @ 3R A« )
a9 X frm fen ° =a @192

@) o (2) wfe=m

(3) SW (4) =faro

e st afyem & @i 8 b, i =
¥ ok qd 7 W ? @ik 3 f. AL
o #1 O 9% < gEa@ € IR 12
q =em 2 9% oW e fag W@
firaen . . 0 W F

(1) 7 & @) 8 fo.Hl

(3) 5w (4) 6 Tt
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37. Inaclassof 49 students, 'A'is the 17th
from top and 'B' is the 11th from
Bottom. If'C' is exact middle of A and

B, then how many students are there
between B& C?

(1) 10
2 12
3) 21
4) 6
38. What is the angle between hour and
" minute hands of a clock at 12:20?
1) 120°
2) 20°
3) 10°
@) 110°
39. What was the day qf week on 15th
August, 1947 ? :
(1) Monday
@) Friday
(8) Tuesday
(4) Saturday
40. A And B are sisters. R and S are

brothers. Daughter of A is sister of R.
How Bisrelatedto S ?

(1) Mother

(2) Grand Mother
(3) Aunt

(4) Sister

BLBHJ-EE-2017/500

37. 49 fogenf&ai =1 %en °, 'A' 1 M
ST W 1738 9e0 B &1 A= 9 1197 2
3T 'C''A' 3R B % Taesa wed d @
a9 ‘B 8iR 'C' & o= fean femnef 3?2
(1) 10
2) 12
(3) 21
“4) 6

38, T WS & U= oiR fAe @ g %
= 12: 20 TS HIOT R BIN?
(1) 120°
2 20°
(3) 10°
(4) 110°

39, 15 3TTE, 1947 1 g 1 HIA-W
feq en?
(1) |aR

(2) haN
(3) HICTER
(@) ofER .

40. A 3K B w&d §1 Rk S 9 ¥1 A =
T R 97 31 B S & e @0 €7

(1) W
@)

@) g
(4) &

[A-12]




Directions for questions 41 to 45 : In each

44,
question tick the appropriate word
that is opposite in meaning to the

underlined word.

41. He concealed his thoughts very

cleverly.

(1) emphasised

@ hold a5
revealed

@)

(4) expressed

42. History abounds in instances of

courage.
(1) suffices
(2) fails
(3) shines 46.
(4) lacks

43. He was deeply hurt by her curt reply.
(1) abrupt
(2) short

(3) expansive

(4) brisk

[A-13]

The leader handled the machine with
deft fingers.

(1) clumsy

(2) sully

nimble

(3)
(4) delicate

His performance was captivating.
(1) poor

(2) boring

(3) mesmerizing

.(4) inveigle

Directions for questions 46 to 50:
Read each sentence and choose

the part with the error.

Ration has run out / and the officer /
(A) (B)
has been informed.

(©)

1 (@A)
@ B
@) (©)

(4) No error

BLBHJ-EE-2017/500




47.

49.

50.

BLBHJ-EE-2017/500

[ can’t come to you now / because a
(A)
lot of works / remains to be done.

B) ©)
(A)
(B)
©

No error

M)
@
©)
@

51.

He, you and I/ shall manage / this

(A) ®B)
problem together.
©

(1 @A)
@2 @®)
@ ©
(4) No error

52.

. Lime and soda / 1s/ a digestive drink.

(A)

1) &)
2 B
@ ©
(4) Noerror

®  ©

53.

My father is / in bad mood / today
(4) B) (©€)

1 @A)

@ ®B)

3 ©

(4) No error

[A-14]

Directions for questions 51 to 55:
Fill in the blanks with the correct

option.

The Romanswere___ science.
(1) badat
(2) badto
(3) badin

(4) bad for

The cricket team _ mainly of
rural players.

(1) consist
@)
3

composed
comprises

None of the above

4)

We must eliminate the rich

and poor.
(1)
©)
@3
4

disparity for
disparity between
disparity in

disparity from




o4.

55.

56.

['am fully ____the problems

facing the industry.
(1) alive with

(2) alive to

(3) alive for

(4) alive on

The lawyer lost confidence and
of the deal at the last

minute,

(1) backed on
(2) backed onto
(3) backed down

(4) backed out

Directions for questions 56 to 60 :
In each question choose the
appropriate word that is closest

in meaning to the underlined

word.

A wise man puts past rancour behind

and moves ahead.
(1) dislike

(2) bitterness

(3) criticism

(4) elimination

[
=]

59.

60.

[A-15]

Jane 1s pretty insipid gir!
(1) clever

(2) lazy

(3) dull

(4) lean

There was a signpost where the two
roads converge.

¢
@)
3
(4)

intersect
diverge
separate

merge

He fell into an abyss of despair.

(1) well

(2) deep pit

(3) sea

4 hollqw

The Vice-Chancellor made a

perfunctory inspection of the Law
department.

(1)
@)
3)
(4)

thorough
perfect
cursory

all the above

BLBHJ-EE-2017/500




61, 'fei feam’ =1 fafy &= 64. Frafafea 4 9 gz o 2
(1) 26 SRy (1) 31
(2) 15 3T (2) w2
3) 14 foamr (@) o=
@) 2 s W

62. &=} =t onfk S+t fort wrm o 22 65 ﬁ%ﬁﬁ@mw%m

(1) wfmomEt (1) frar
(2) e @) &
3) WA | (3) et
63. ‘&' af fpms A Q w1 22 66, ‘omitare’ w1t whu-fasse B-
1) T+ o 1) AR + =]
(2) 3T + a1
@ %+
(3) eh: +arg
3 F+¥
(4) AR + @Te
4 % +9

BLBHJ-EE-2017/500 [A-16]




67.

68,

69.

‘v’ | g a8
1)

2 9

3) 7@

(4) 3mq

‘TEE' ¥ S-T Toug 22

Nk

@ =
(3) TR

(4) \':ﬁih‘

“forameff’ & w-T T 22
(1) FHHYR"

(2) Teges

3) &1

(4) sife

70.

Z1,

‘wle’ v 2

(1) deqw

2) T

(3) o=

(4) fordersr

Fretferfa 9 aqwe v 1 = i
(1) myH

@) He

3) TR

72,

[A-17]

(4) &R
- IR S F a2
(1) 5

2) st

3) g

(4) 9ft

BLBHJ-EE-2017/500
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73 H-T1 % FEUGE H1 TEAEAE 2?2
(1) IS (2) T

(3) TR (4) Uikt

74, ‘o’ 1 faeE WK -
(1) fo
(2)
(3) T
(4) |
75, ‘el T A T A w -
(1) ST
(2) AT
(3) &M
@ T
76, ‘T srerm’ w1 o -
(1) T F
2) fom = e
(3) T BT HE

(4) SRy Y HTH

BLBHJ-EE-2017/500

78.

79.

80.

[A-18]

| E| ﬂ'f'ﬂ AR’ 1 Tl 2-

1) magmg&ﬁaavq—ﬁ
(2) BEBIE HL
(3) R gEY o il faEr

(4) FTER T diar K@

4 @ F W T -
(1) foema
(2) HY

(3) IEE

4) 9

frtfiafian & & STEHR AT
(1) ST

() S

(3) T

(4) IHH

e’ e i 7
(1) St

(2) e

@) W

(4) gerlt




81.

82.

83.

84.

Who has won the 2017 French Open
Men's Singles Tennis Tournament ?

(1) Roger Federer
(2) Novak Djokovic
(3) Stanislas Wavrinka

(4) Rafael Nadal

Which Indian Personality has he:
selected for France's highest civiiian
award "Legion of Honour"?

(1) Amitabh Bachachan
(2) Shahrukh Khan
(3) Soumitra Chatterjee

(4) Kamal Hasan

The World Day Against Child Labour
1s observed on which date ?

(1) June 12
(2) June 11
(3) June 13
(4) June 10

The Minsit}y of Defence has planned
to set up its defence unit in which of
the following state at a cost of 1500
crore.

(1) Goa

(2) Jammu and Kashmir
(3) Himachal Pradesh
(4) Madhya Pradesh

[A-19]

81.

83,

84.

AREnETTe e s

2017 W WY T UHA 2w

fehe it 2

(1) TR HeW

(2) AEF ISmIa
(3) RTzHaliy arafien

(4) THe e

. W % wdEiew st R ferse

3 HR' & fo g wredra yaafaa
g T B

(1) g s==q

©2) TEEE @M

(3) S <resft

(4) F9e T

FH-6 faf i oo wored iy g
T S 272

(1) 12 53
@) 11 SH
3) 13 5[

@ 10 @

1500 U hI ANl © &1 HAGH I
fFe T2 4 oot e foE w@en w5t
RIEECE

(1) Ten

(2) S F FYHUR
(3) fewuraer wew
(4) TET YRE

BLBHJ-EE-2017/500
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85.

86.

87.

88.

BLBHJ-EE-2017/500

AT IR TN T e T

The mercury and sodium street lamps ~ 85.

light up because of :

(1) Electric obsorption
(2) Atomic obsorption
(3) Atomic emission

(4) Electron emission

Who invented the mobile phone ? 86.
(1) Chuck Hull

(2) Raymond Samuel Tomlinson
(3 Martin Cooper

{4) Tim Berners-Lee

Which of the following colour of _light 87
deviaties least through the prism ?

(1) Yellow

(2) Red

(3) Green

(4) Violet

Newton's Laws of Motion do not hold 88.
good for objects :

(1) Atrest
(2) Moving slowly
(3) Moving with higher velocity

(4) Moving with velocity comparable
to velocity of light

[A-20]

s L s b b s

el 9 wifeaw g ofd § Y F
&

0 B

(1) forega stereioon
(2) Ao STEITI
(3) TR IeEsiA
(4) ST IS

Hrarser WF &1 afaesr fwe faa?
(1) g =l

©2) Tvs Yege THieEr

(3) wIfA H{R

(4) fom e g-«l

feg § o Ted FH A oA |
e Bl

(1) dew

(2) &

(3) &

@) ST

= % Tfq 1w e el W
&l 2

(1) fasma =t e ° 9%

(2) it Tifa aedt o

(3) e T et 9%

(4) TS TR e g i s

PRI




89.

90.

ol

92.

The Battle of Plassey was fought in :
(1) 1757
(2) 1782
(3) 1748
(4) 1764

Under Akbar, the 'Mir Bakshi' was

required to look after :

(1) Military Attairs

(2) The State Treasury

(3) The Royal Houseold

(4) The Land Revenue System

Tripitakas are sacred books of :
(1) Hindus

(2) Buddhists

(3) Jains ;

(4) None Q‘f the above

Who among the following rulers paid
considerable attention to Irrigation

and public works ?

(1) Mohammal Bin Tughlaq
(2) Alauddin Khilji

(3) Firoz Shah Tughlaq

(4) Ghyasuddin Tughlaq

[A-21]

89.

90.

21,

92,

ATE T g HE 2] T o47)
(1) 1757
(2) 1782
(3) 1748
(4) 1764

AHR AqWME F ST § UK gasht’
F1 H1 HEH o?

1) = g

2) T & @EH &1

(3) ¥ WA B W@-@E F
(4) TSEE- 3INE T
iy faent afes o= 27
(1) feget =1

@) gt F

@) St =

(4) IR foafea fFdt =1 of 72t

fr=fafea fa v 3 foee =men g
S ERIfaE Wt wE s ufa faw
e =

(1) q3=% fom grere
(2) TR faersh
3) T W qers

4) ™HEH qreTE
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93.

04.

95.

Comets revolue around : 93,
(1) Sun |

(2) Earth

(3) Venus

(4) No single heavenly body

Which two planets of the solar system 94,
have no statellites ?

(1) Mercury and Mars
(2) Mercury and Venus
(3) Venus and Mars 7

(4) Venus and Neptune

The mapping of which of the following
is most difficult ?

95,

z (1) Mountains

96.

(2) Plateaus and plains
(3) Interior the earth
(49) Oceans and their depths

Which one of the following areas is
dominant in hunting and gathering. 9%0.

(1) Hot desert

(2) Cold desert

(8) Tropical forest

(4) Temperate grassland

BLBHJ-EE-2017/500 [A-22]

=e a0 Sl &

(1) ¥ = 9 e

(2) ¥t & 9/ SR

(3) [CWh T& 3 =1 3

(4) st ot © @ies Tea ww T
R W @ BH-9 9wz 0§ fe
SUIE & €2

1) 95 & 77 7w

@) 95 @ % 7w

(3) IF W 9T um

(4) YF T 9o 7

ﬁwﬁ@%wuﬁﬁmma@
wfa &2

(1) vda gaen

(2) YR T e
(3) geat H TR B
(4) 95 9 ITHT TR

= o 9 wh-9 & R 9w §
E 2

(1) ™ gEes

(2) 32 TETYw

(3) 3w et o

(4) THEitarsT SRy ey
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97.

98.

99.

100.

The State of Jammu and Kashmir

was accorded special status under :
(1) Axrticle 356 of the Constitution
(2) Article 370 of the Constitution
(3) Article 356 and 370 of the

Constitution

(4) None of the above

The concept of Public Interest

Litigation originated in :

(1) The United Kingdom

(2) Australia
(3) The United States
(49) Canada

The first Five Year Plan (1951-56)
was drafted by :

(1y P.C. Mahalanobis
(2) K.N.Raj

(3) J.C.EKumarappa
(4) Jawahar Lal Nehru

India has:

(1) Socialistic Economy
(2) Gandhian Economy
(3) Mixed Economy

(4) Free Economy

97,

98.

S 8 HYHR H fave w9 F IS
feae aga fhen e €7

(1) \fau[ & AT 356

(2) Hfaum & =T 370

(3) dfgu™ & 1T=8< 356 WH 370

(4) Hfaym & sofafed ®iE i et
g fed o w Hehesrs el
faar w8l ¥ 2mn?

(1) gfe

(2) smefern

| (3) emfE

99,

100.

(4) TSt

T YeENT A 1 TR R o
feran?

(1) . . "eeEfad

(2) &. T. TS

(3) . . FHARIWI

(4) SETER @ BE

IRE o e

(1) GHISETE! Srefeqawen
(2) TTETE SrefeaEe
(3) fufsrm ereferaeen
(4) T STl
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frafafaa & @ swg v &
ORESN
@) 3=fa
(3) geit

(4) ST

‘amefferg’ 1 wEt wiu-fassg 2-
(1) AWK + 9]
(2) et + =
(3) &sh: + 9%

(4) =Tt + w@rg
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;. yera H YR SO &
1)
2) ¥
(3) W@
(4) o
g, ‘oraw’ § FrA- e §7
1) &
2) 3
(3) H
4) ¥
5 PrEmeli’ § T WA €2
(1) HHURA
(2) TIEH
3) &1
(4) sEHTE
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‘qdien’ IR B-

(1) deH

(2) _HE

(3) =¥

ORERS
i 2 A Y 1 T I
(1) TR

@ %
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13.

14,

15.

FF-TI IR FHEUgH HT TG 27

‘ST H O el ST’ W wed B
() wew
(2) @
(3) T

(4) A

16, ‘2 3’ @ It @-

(1) &A™ T
2) fomr &wRu &g
(3) e &M FEI

(4) 3Ry Yo7 w

17.

18.

19.

20,

‘3N S HY AR’ T e 2-
(1) ST gt Fefiea # v
(2) BIBIE HT

(3) X TEW 3 dian fg@rn
(@) FE BT e fe@r
o T &1 T a2

(1) e |

) HY

(3) IuTE

(@)
frrefofaa & @ stafder amaga-
(1) I

(2) IUHT

(3) T

4) TTH
‘yfaaT’ et Hfa 22
(1) S

(2) HeR

(3) W

(4) ot
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21.

22.

23.

24.

Total number of States in India are .
(1) 29
2) 27
3) 25
4) 21

Who was the first speaker of Lok
Sabha ?

1) Sardar Hukam Singh
(2) Bali Ram Bhagat

(3) G.V.Mavalankar

(4) Sir Shadi Lal

How many official languages does
United Nations Organization (UNO)
have ?

(1) 6

2) 5

3) 10

4) 8

Which of the following Articles of the
Constitution of India provides for
'"Equal Justice and Free Legal Aid ?

(1) Article 39
(2) Article 39A
3) Article 41
(4) Article 42

BLBHJ-EE-2017/500
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23,

24,
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IRd H & T4 &

(1) 29

4) 21

AT T | GUH 31eAs (FERT)
FHA 4?2

(1) TR g9 e

(2) SrE TH T

(3) i &l Hreresh

(4) T IS A

T W G w1 fRa W qrTy
&2

1) 6

@) 5

(3) 10

4 8

R wiaum & Frafatad fra sess

§ gur = SR qR F FerEd
e B2

(1) =% 39
(2) IT=8% 39(31)
(3) 3738 41
(4) FAT=IT 42




25.

26.

27.

28.

Who is the guardian of fundamental
rights enumerated in the Indian

Constitution ?

(1) Supreme Court
(2) Parliament
(3) Prime Minister

(4) President
The Head quarters of WTO is at :

(1) Geneva (Switzerland)

(2) Washington D. C. (U.S.A)

(3) London (U.K.)
(4) Beijing (China)
The Chief Justice of India is :

(1) dJustice K.G. Bala Krishnan
(2) dJustice S.H. Kapadia

(3) dJustice J.S. Khehar

(4) Justice T.S. Thakur

'My Presidential Years' book was

written by :

(1) Mulak Raj Anand
(2) R. Venkataraman
(3) A.P.J Abdul Kalam

(4) Pranab Mukherjee

25.

26,

e 8

28,

[B-7]

R e o Hifers ifuerr o G
I 87

(1) S=gdq I

(2) W&

(8) 9u™ HAT

@) Tgufa

fava =R WS w1 qEued €
(1) SFan (fesres) §
(2) arf¥imes SLd. (i) o

(3) @A (I, &.) ¥
(4) safstm (=) |

IR H&A A 7
(1) sfed . . aenEsH
(2) Sy . w3 wufem
(3) ifed . wH. Wed

(4) sifew 1. wg. 3R
‘T gafa Ug @ gl AmE [RE H
ﬁ'@a??}:

(1) He=h TS 3=

(2) 3R, AFHSTA

(3) T 9. § KA HaH
(4) T TS
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29.

30.

31.

32.

Which amendment of the Constitution
of India inserted a new Article 21A

providing Right to Education ?
(1
(2)
3)
4)

86th Amendment
87th Amendment
88th Amendinent
89th Amendment

Who is the 21st Lt. Governor of
Delhi?

(1) Tajendra Khanna
(2) Anil Bajjal

(3) A.B. Singh

(4) Najeeb Jung

Who is the present Australian Prime
Minister ?

(1) Jullia Gillard

(2) Kelvin Rudd

(3) Maléolm Turbull

(4) None of these

The Earth Hour is observed on :
(1) May 25

(2) March 25

(3) February 25

(4) June 25

BLBHJ-EE-2017/500

30.

31,

32,

[B-8]

I wfguE & g giuE 9 s
T ST 21971 el wan formd o
1 AfIHR T T B2

(1) 86aT GeleMA

(2) 879 G

(3) 88a TeMe

(4) 89aT HINEA

feeelt # 219 IU-TouUe B 27

(1) oI T

@) 3t s

(3) § . fog

(4) TS ST

AR % TSRl Y S 22
(1) feran fireene

2) Hafed &

(3) WITHIH A

(4) ®TE o &

geelt sier @1 A A Sl 27
(1) 25 %2
(2) 25 4

(3) 25 wE
(4) 25 51




33. Where in the headquarter of "The 33,

34.

35.

36.

Survey of India' Located ?
(1) Jaipur

(2) Dehradun

(3) Hyderabad

(4) New Delhi

P.M. Narendra Modi inaugurated the 34.

country's longest Chenani Nashri

Tunnel in which state ?

(1) Himachal Pradesh
(2) Kerala

(8) Jammu & Kashmir
(4) Jharkhand

r

India became a Republic on : 35

(1) 15 Aug, 1947
(2) 26Jan, 1950
(3) 24 Nov, 1949

(4) 26 Jan, 1949

The head of the state in India is : 36,

(1) Prime Minigter

(2) President

(8) Speaker of Lok Sabha
) Chief Justice of India

[B-9]

IRA k1 HA&IO H1 AT F8l ¢
(1) SAR

(2) TBUGH

(3) TeTEE

(4) 7 feeeit

U T A A A e T wma
T T Al g o e w5 seEea
e 2

1) ferr=e w=w

(2)

(3) W Y

Y4) arEve

YRA Teh MU 1
(1) 15 3T, 1947
(2) 26 ST, 1950
(3) 24 AR, 1949
(4) 26 SFERT, 1949
T TG H UM T
(1) 9= w3

(2) Tegufa

(3) S | & THHT
(4) 9RA & &I A
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37.

38.

39.

40.

-

According to Indian Majority Act, a
major i1s a perscn who nas attained

the age of :

(1) 18 years
(2) 21 years
(3) 15 years
(4) 16 years

The World Environment Day is
observed on :

@D
@)
3)
(4)

5th June
4th June
5th July
5th August

The minimum age for marriage is
that the boy must be____and the

girl .
@D
2)
(©)
(4)

18 years, 21 years
21 years, 18 years
18 years, 18 years

18 years, 15 years

37.

38.

39.

Who is the present Union minister of 40.

Law and Justice ?

(1) P.Chidambaram
(2) Pranab Mukherjee
(3) Pawan Kumar

(4) Ravi Shankar Prasad

BLBHJ-EE-2017/500
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YA %k AHFEH & I7HR T Al
(1) 18 9ret

(2) 21 9

(3) 15 |

4) 16 9

fereay wrafercon feem wefren S 2

(1) 5 5 '

2) 4 S Hl

(3) 5 S8 i

(4) 5 ST Wl

foae 0 & fou 9 9 %9 91g @ss
1 iR wge! HI___wH =feu:
(1) 18 9ret, 21 9 A —

(2) 21 @<, 18 9

(3) 18 W, 18 H A

(4) 18 91, 15 | A

T GG ST AR A % hes Wl
HM 7?2

(1) dr. fagHsH

(2) ¥Fe HES

(3) 9T hHR

(4) T vt 99E




41.

42.

43.

Mathematics : Logic :: Science : ?
(1) Experiment

(2) Laboratory

(3) Facts

(4) Scientist

"Food : Stomach :: Fuel:?

(1) Plane
(2) Car
(3) Scooter

(4) Engine

Blind : Visual :: Deaf:?
(\1) Auditory

(2) Sound

(3) Hearing

(4) Ears

Fox : Cunning : : Rabbit : ?
(1) Courageous

(2) Timid

(3) Dangerbus

(4) Ferocious

41.

42,

43,

[B-11]

o ;9 faEe o ?
(1) S

(2) FANTIIE

(3) 7A

(4) SR

qe ;U2 1 THA 7

(1) STeTS

2) ®R

(3) THH

(@) ¥

IF ;RGN ?
(1) gt

(2) STrerst

(3) T I &

(4) & |

It M | [ | B PR = Co | B
(1) fewdt

(2) STH

(3) WATTH

(4) @R

BLBHJ-EE-2017/500




45. 5:30 = 7:7? 45. 5 :30 2 7

(1) 56 (1) 56
(2) 49 (2) 49
(3) 50 (3) 50
4) 42 (4) 42

46. Select the correct set of symbols which 46, f=i w1 9l ®H T TS 5 20 ?

. . . P . e l?

will fit in the given equation : 5207 325=20TW e Bl
37?75=20.

(1) X, %, X% Y S

2 -.+X @ =%

@) X, + X ® X~

(4) " (4) +;"'s X

47. If 'P' Stands for +, Q for —, R' for X 47, Ifc P 1 2 T+'Q & — ®X 3R

and'S' for +; which of the following is S T . T 4 TH-T FH AF LY,
correct ? '

(1) 36R14S6Q7P4=18
1) 36R14S6Q7P4=18

@ 16R12P4987Q9=200
(3) 32S8R9=160Q12R12
(4) 8R8P8S8Q8=5T

(2) 16R12P 495 7Q 9=200
3) 32S8R9=160Q 12R 12
4) SR8P8S8Q8=57

48. 3.6,9,15,24,39,63,7 48. 3,6,9,15,24,39,63,7
1) 100 (1) 100
(2) 88 : (2) 88
(3) 102 o (3) 102
@ 110 | ) 110
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- 51. Choose the odd one :

49. Find the missing number : 49, @ @ T FUI

1;12 10 /ﬂ\
@3
Qﬂ ! D v
(1) 74

(1) 74
(2) 84 (2) 84
@ 94 (3) 94
4 104 (4) 104
50. Choose the odd one : 50, fowm =1 T H
(1) Cube 1) =
(2) Square ) il
3) g

(8) Triangle
) e (4) I
(4) Rectangle

51, fomm 1 9@ &

1)
(1) Lion R - @) el
(2) Horse
(3) Zebra 3 St
4 Tiger (_4) <

52‘ q&tmr lﬁa!% :.ﬁar ‘d@’%,‘q‘@f’

52. If'pen'is 'table’, 'table'is 'fan''fan'is
'chair' and 'chair' is 'roof’, on which a

person shall sit ? W F3M?
(1) Fan (1) v@
(2) Chair @) =it
(3) Table © ¥
(4) Roof

(4) &d

[B-13] BLBHJ-EE-2017/500




53. In a certain code, DECEMBER is

written as ERMBCEDE. Which word
will be written as ERMBVENO in
that code ?

(1) AUGUST

(2) SEPTEMBER

(3) OCTOBER

(4) NOVEMBER

54. Which one of the following diagrams

répresents the relationships of cows,
animals and goats ?

06 @@
" (3) @ 4 @

X' walks southwards and then turns
right then left and then right. In

which direction is 'X' moving now ?

55.

(1) East
(3) North

(2) West
(4) South

56. A person walked 8 km towards west
and turned right and walked 3 km.
Again he turned right and walked 12

km. How far he is from starting point?
(1) 7km
(3) 5km

(2) 8km
(4) 6km

BLBHJ-EE-2017/500
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% fafyad wig w1 § DECEMBER
#' ERMBCEDE fa@n =@ 2
ERMBCEDE =1 371 31s% for@n s

(1) AUGUST
@)
3)

(4)

SEPTEMBER
OCTOBER
NOVEMBER

frer @ BA-T om@ T, 99 R
THY B TR T w2

7y S
1) ©C) 2 \/@L‘\;
o SR 4

®) @ @ &

X efaqor S @R Her @ 3R fiR g
Tea 8, fRt &g qE@ ¥ SR e <l
I X fra fen § =@ w1 R

@ (2) wf=m

® W @ =

s fE afvem #1 iR 8 fon. . =er
§ ok o qg w7 ok 3 fm AL
<o 31 I 9% <1¢ gga € 3R 12 .
#, oo 21 9 A o fag §
fope fF. . 0 W 2

(1) 7 . 2) 8 fwHAt
(3) 5 fw.4 4) 6 fwm.=




57.

58.

59.

60.

In a class of 49 students, 'A'is the 17th
from top and 'B' is the 11th from
Bottom. If'C' 1s exact middle of A and
B, then how many students are there
between B & C?

(1) 10

2 12

3 21

4) 6

What is the angle between hour and
minute hands of a clock at 12 : 20 ?
(1) 120°

(2) 20°.

(3) 10°

4) 110°

What was the day of week on 15th
August, 1947 ?

(1) Monday

(2) Friday

(3) Tuesday

(4) Saturday

A and B are sisters. R and S are

brothers. Daughter of A is sister of R.
How B is related to S ?

(1) Mother

(2) Grand Mother
(3) Aunt

(4) -Sister

[B-15]

7 A

58,

59,

60,

49 foenfé=ai =1 wan o, 'A' &1 Tom
FW A 178 941 B &1 A= G 1197 €
3R 'C''A" #iR 'B' % faews wen # =@
T B 3 C & o s fawnedt w2
(1) 10

@) 12

3) 21

@ 6

TF uE & "= R e w1 gl @
9 12: 20 S HIU 4 BT

(1) 120°

(2) 20°

(3) 10°

(4) 110°

IS TR, 1947 & TG H HH-T
G o
(1) 9HERr

(2) IHER
(3) HeTER
(4) vfER

A 3R B wg4 €1 R S o€ §1 A =1
Tt R & @1 BT S ¥ e n 22

(1) |
(2) TR
(3) gzm

(4) 9_A
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61.

62.

63.

64.

BLBHJ-EE-2017/500

Who has won the 2017 French Open
Men's Singles Tennis Tournament ?

(1) Roger Federer

(2) Novak Djokovic

(3) Stanislas Wavrinka
(4) Rafael Nadal

Which Indian Personality has been
selected for France's highest civilian
award "Legion of Honour"?

(1) Amitabh Bachachan
(2) Shahrukh Khan
2} Soumitra Chatterjee

{4) Kamal Hasan

The World Day Against Child Labour
is observed on which date ?

(1) June 12
(2) June 11
(38) June 13
(4) June 10

The Minsitry of Defence has planned
to set up its defence unit in which of
the following state at a cost of 1500
crore.

(1) Goa

(2) Jammu and Kashmir
(3) Himachal Pradesh
(4) Madhya Pradesh

61.

62,

63,
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2017 W W GEW e o afqEf
T it

(1) TSR W

(2) ATH SSHITeh

(3) WgHard arafien]

(4) THe eI

wE B Herew owif e qEww ‘s
e R’ & fo fovw urdt vrewmfaa
& g T €

(1) iy S=eA

(2) VEREE @i

(3) aften =S

(4) e T

FA-gt fafy = @@ wegh oy fKew
AR S © 7

(1) 12 3

() 11 3

(3 13 51

4) 10 53

1500 FUS I @@l 9 & wACE A
frg TSI H ofT & S e Hi
A S 2

(1) e

(2) S F HIHR
@) femree =
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65.

66.

67.

68.

The mercury and sodium street lamps

light up because of :

(1) Electric obsorption
(2) Atomic obsorption
(3) Atomic emission

(4) Electron emission

Who invented the mobile phone ?
(1) Chuck Huil

(2) Raymond Samuel Tomlinson
(3 Martin Cooper

(4) Tim Berners-Lee

Which of the following colour of light
deviaties least through the prism ?

(1) Yellow
(2) Red

(3) Green
(4) Violet

Newton's Laws of Motion do not hold
good for objects :

(1) Atrest
(2) Moving slowly
(3) Moving with higher velocity

(4) Moving with velocity comparable
to velocity of light

[B-17]

65,

66.

67.

68,

&G 9 difsgq g% ofu § O &
?Fr(m%:

(1) faga sraemym

(2) TEIftaeE STEgyor

(3) WHITvaH IS+

(4) TEIRIA e

Arege B 1 afaeRr ey fian?
(D 9% 7

@) 1Ue e eHferTe

(3) wfeT W

(4) foq sRg-<it

o § 9 w99 $9 wE-w O oAy
en

(1) dren

(2) @@
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4) ST

A &1 fa w1 Frem e il ) oad
T 2
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(4) vepTe Tfq woged e I el
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69.

70.

i

72.

BLBHJ-EE-2017/500

The Battle of Plassey was fought in :

69.
1757
1782
1748
1764

@
@)
@)
4)

Under Akbar, the 'Mir Bakshi' was

required to look after :

70.

(1) Military Attairs
(2) The State Treasury
(3) The Royal Houseold

(4} The Land Revenue System

Tripitakas are sacred books of : 71.
(1) Hindus

(2) Buddhists

(3) dJains

(4) None of the above

Who among the following rulers paid  72.
considerable attention to irrigation

and public works ?

(1) Mohammal Bin Tughlaq
(2) Alauddin Khilji

(3) Firoz Shah Tughlaq

(4) Ghyasuddin Tughlaq

[B-18]

S T B T S ST T T

Wl ® g FE @Sl T
(1) 1757
(2) 1782
(3) 1748
(4) 1764

AH F=KIME & AT o CHiT gel’
R FHE oa1?

(1) &= gt e

(2) T & @I =+

(3) WEl WA & @-TE@E I
(4) TSTE-HY gIE W
gieerry fohaent afes g 87
1) fegett =i

@ dgi

3) St =1

(4) IR fafaa fFdt +t ot =

ﬁﬂﬁl@amm#mma
S Rt Hedt 1 % ufa fowiw
wH fam)

1) =R foT s
(2) ITEEHEH faersit
(3) fRst v ek
(4) TGS FreTh




73.

74.

75.

76.

Comets revolue around : 73.

(1) Sun
(2) Earth
(3) Venus

(4) No single heavenly body

Which two planets of the solar systew =4

have no statellites ?

(1) Mercury and Mars
(2) Mercury and Venus
(3) Venus and Mars

(4) Venus and Neptune

The mapping of which of the following 75
is most difficult ?

(1) Mountains
(2) Plateaus and plains
(3) Interior the earth

(4) Oceans and their depths

Which one of the following areas is

dominant in hunting and gathering. 76.

(1) Hot desert
(2) Cold desert
(8) Tropical forest

(4) Temperate grassland

[B-19]

(1) ¥ % I 3

(2) Ul % "W 3

(3) I T & dM 3N

@) fedl ot T wilea qew W AR

 dR Hee & wM-9 9 1 1Y faed

IqE AL §?

(1) 9% W@ "1 =

2 96 @ YF T

(3)?13?@#1@%
@) YF T AT T

. F= 9 @ fea w1 gfafesor e s d

e €2

(1) v g

(2) SR TS A

(3) gealt § TEASIER & A

@) TgE I TR TETE

frm A Q@ SF-9 &7 ReR 9 @R |
@ 2

(1) T "EeE

(2) 38 AEEAA

(3) I wizae a1
(4) THIIATSIT o6 el

BLBHJ-EE-2017/500




—

if.

78.

79.

80.

The State of Jammu and Kashmir

was accorde(_i special status under :
1)
)
(3)

Article 356 of the Constitution
Article 370 of the Constitution

Article 356 and 370 of the
Constitution

None of the above

(4)

The concept of Public Interest
Litigation originated in :

(1) The United Kingdom
Australia

{3) The United States

Canada

The first Five Year Plan (1951-56)
was drafted by :

(1) P.C.Mahalanobis
(2) K.N.Raj

(3) dJ.C.Kumarappa
(4) Jawahar Lal Nehru

India has:

(1). Socialistic Economy
(2) Gandhian Economy
(3) Mixed Economy

(4) Free Economy .

BLBHJ-EE-2017/500

77,

78,

19,

80.
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PR TR T N R S TOT R

SH 9 HYER &l faviw us @y =
foheer @ea faem gan &7

(1) dfaum & 1935 356

(2) |fEU™ % AT=% 370

(3) Wfaum & 7 =% 356 wq 370
(4) Gfoum & srfefeaa = of 78
A fed § FIE qEedas we
fa=m wel 9 amn?

(1) ¥¥e

(2) emeferan

(3) mfER

(4) FrST

U GEaHT IS HT g R FaR
fean?

(1) q €. wEEmEfey

(2) ®. . T

(3) . & HARSTN

(4) TR S AEE

T A €

(1) GorSETEl SrefeyaEen

(2) Tieltardt srefegareey

(3) fhfa srelszrareen

(4) e eTefoqaEen




Directions for questions 81 to 85 : In each

81

82.

83.

question tick the appropriate word
that is opposite in meaning to the

underlined word.

He concealed his thoughts very
cleverly.

(1) emphasised
(2) hold
(3) revealed

(4) expressed

History abounds in instances of

courage.
(1) suffices
(2) fails
(3) shines

(4) lacks

He was deeply hurt by her curt reply.
(1) abrupt

(2) short

(3) expansive

(4) brisk

[B-21]

34.

85.

86.

The leader handled the machine with

deft fingers.

(1) clumsy

(2) sully

(3) mnimble

{4) delicate

His performance ws captivating.
(1) poor

(2) boring

(3) mesmerizing

(4) inveigle

Directions for questions 86 to 90:

Read each sentence and choose

the part with the error.

Ration has run out / and the officer /

(A) (B)

has been informed.

(©)
1) @A)
@ B
@) (©)

(4) No error
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87.

88.

89.

90.

BLBHJ-EE-2017/500

I can’t come to you now / because a
(A)

lot of works / remains to be done.

(B)
A4)
(B)
(©)

No error

(C)
(1
@)
3
4)

91.

He, you and I/ shall manage / this

(A) ()
problem together.

(©)
(A)
B)
©

92.

@)

«(4) No error

Lime and soda / is/a digestive drink.
(A) (B) (C)

@ @)

@) (B)

3 ©

(4) No error

93.

My father is / in bad mood / today
(A) B) (©)

1 @A)
@2 B
@) ©)
(4)

No error

[B-22]

Directions for questions 91 to 95:
Fill in the blanks with the correct

option.

The Romanswere  science.
(1) badat
(2) badto
(3) badin

(4) bad for

The cricket team _ _mainly of

rural players.

consist

1)
(2) composed
3)

comprises

None of the above

(4)

We must eliminate the rich

and poor.

(1) disparity for

(2) disparity between
(3) disparity in

(4) disparity from




94.

95.

96.

oo s el L e e e

Iam fully_

____the problems

facing the industry.
(1) alive with

(2) alive to

(3) alive for

(4) alive on

The lawyer lost confidence and
of the deal at the last

minute.

(1) backed on
(2) backed onto
(3) backed down

(4) backed out

Directions for questions 96 to 100
: In each question choose the
appropriate word that is closest
in meaning to the underlined
word.

A wise man puts past rancour behind

and moves ahead.
(1) dislike

(2) Dbitterness
(3) criticism

(4) elimination

97.

99.

- @

100.

Jane 1s pretty insipid girl.
(1) clever
(2) lazy
(3) dull

(4) lean

There was a signpo'st where the two
roads converge.

(1) intersect
2)
3)

(4)

diverge
separate

merge

He fell into an abyss of despair.
(1) well
(2)

@)

deep pit
sea

hollow

The Vice-Chancellor made a
perfunctory inspection of the Law
department.

(1)
)
3)
(4)

thorough
perfect
cursory

all the above

[B-23]
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Directions for questions 1 to 5 : In each

question tick the appropriate word
that is opposite in meaning to the

underlined word.

He concealed his thoughts very
cleverly.

(1) emphasised
(2) hold
(3) revealed

: (4) expressed

r .
History abounds in instances of

courage.

(1) suffices
(2) fails |
(3) shines

(4) lacks

He was deeply hurt by her curt reply.
(1) abrupt

(2) short

(3) expansive

(4) brisk

The leader handled the machine with

deft fingers.
(1) clumsy
(2) sully

(3) nimble

(4) delicate

His performance was captivating.

(1) poor

(2) boring

(3) mesmerizing

(4) inveigle

Directions for questions 6 to 10:

Read each sentence and choose

the part with the error.

Ration has run out / and the officer /

(A) B)

has been informed.
(©)

@ @A
@ @B)
@) ©

(4) No error
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7. Ican’t come to you now / because a Directions for questions 11 to 15

A
lot ofworks(x’ r)emains.:; to be done. Fill in the blanks with the correct
- (B) (C) option.
1 @ 11. "The Romans were science.
2) (B)
3) (C) (1) bad at
(4) No error (2) badto
8. He, you and I/ shall manage / this (3) badin
A4) (B)
problem together. (4) bad for
(&)
1O @A) 12. The cricket team mainly of
@ (B) rural players.
3 (©) (1) consist

4) Noerr
0 Hoemor (2) composed

9. Limeandsoda/ is/a digestive drink. _
(3) comprises

A) (B) (©)
1) (A (4) None of the above
Gl &l 13. We must eliminate the rich
3) (©)

and poor.
(4) Noerror

(1) disparity for
10. My fatheris/in bad mood / today

(A) (B) (©) (2) disparity between
1) A (3) disparity in
2 @B

(4) disparity from
@) (©)

(4) No error
BLBHJ-EE-2017/500 [C-4]




14.

15.

16.

[ am fully

the problems

facing the industry.
(1) alive with

(2) alive to

(3) alive for

(4) alive on

The lawyer lost confidence and
of the deal at the last

minute.

(1) backed on
(2) backed onto
(3) backed down

(4) backed out

Directions for questions 16 to 20 :
In each question choose the
appropriate word that is closest
in meaning to the underlined

word.

A wise man puts past rancour behind

and moves ahead. -

(1) dislike

 (2) Dbitterness

(3) criticism

(4) elimination

1%.

18.

19.

20.

Jane is pretty insipid gir!
(1) clever

(2) lazy

(3) dull

(4) lean

There was a signpost where the two

roads converge.
(1) intersect
(2) diverge

(3) separate

(4) merge

He fell into an abyss of despair.
(1) well

(2) deep pit

(3) sea

(4) hollow

The Vice-Chancellor made a
erfunctory inspection of the Law
* department.

(1) thorough
(2) perfect
(3) cursory

(4) all the above
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21, ‘e femw’ =t fofw &
(1) 26 SFad
(2) 15 3P
(3) 14 Taaw
(4) 2 TR
22, f&t ® enfe SR foRd wE T @2
(1) it
(2) wERa
3 W
(4) T
22, ‘a'aﬁfw&%a‘m@w%‘?
HEF+T
@ T+
@ =+

@ F
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24,

25,

26,

[C-6]

frfafad ¥ 9 s 9= €
1) TS
(2) R
(3) A=

4) I

frefafa § @ SR s B
(1) B
@) s
(3) gl

(4) T=EoT

 aeftare’ w1 wE whu-fases ?-

© (1) IR + 91

(2) 3N + TR
(3) AEM: + 9%

(4) e + @R




27. ‘wea’ ® Y SUET ©- 30.
1) @
@2 %
3) 7@

(4) 3d

28, ‘viE®’ § HH-9 T ©? »
1) =
@ =

(3) AR 7

(4) R

29, ‘famnefl’ § SH-T YW B2

32,

(1) FHURT
(2) TIEH

3) f&1

(4) wEsitfe

[C-T]

‘oiian’ W 2
(1) e
(2) 914
(3) =@

(4) fasmst

frfafaa & 9 q v 1 9 -

(1) A

@) Te

(3) T

(4) AT

FH-T vt 3T 1 W A 87
(1) |

(2) "

(3)

(4) S
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33, -9 UK FEUZH H Tataare
(1) uifesma (2) T
(3) SvEF @) guft
34, ‘quur’ & ferein v 2o
(1) fooy
(2)
(3) Tou
(4) YIH
35. 'STOT H oY At o ey S
(1) ST
(2 TEme
(3) g
4) HHA
36, ‘2 31‘5’Fﬁ 1 37ef B-
(1) 9= HT
@) fo wrRw w=
(3) T HTH FHI
(4) TR g7 HI
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38,

39.

40,

[C-8]

7. 'S 9 g AR #T a2

(1) 91 g q&iea o ge
(2) BEBIE &

(3) I I&Y I fivar fawm
(4) T B SRar fe@rn

IR W H e gy g
(1) fowmm

(2) Wiy

(3) StaTE

(4) v

Frfafen % @ srefdsr amsa-
(1) srga

(2) v

(3) voIw

4) IuH

AT R w5 22
(1) ST

(2) weR

@) §W

(4) Fewdt




41.

42.

43.

Who has won the 2017 French Open
Men's Singles Tennis Tournament ?

(1) Roger Federer

(2) Novak Djokovic

(3) Stanislas Wavrinka
(4) Rafael Nadal

Which Indian Personality has been
selected for France's highest civilian
award "Legion of Honour"?

(1) Amitabh Bachachan
(2) Shahrukh Khan

(3) Soumitra Chatterjee
(4) Kamal Hasan

The World Day Against Child Labour
is observed on which date ?

(1) June 12
(2) dJune 11
(3) June 13
(4) June 10

The Minsitry of Defence has planned
to set up its defence unit in which of
the following state at a cost of 1500
crore.

(D
(2)
®3)
(4)

Goa

Jammu and Kashmir
Himachal Pradesh
Madhya Pradesh

41,

42,

43,
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2017 I %9 B Thel 9 Wi
fohar et ?

(1) TSR HeW

(2) e <Stehifaeh

(3) BETag aafie

(4) Tha e

WE & gaed oTdfe qweR fasE

e o’ & fou forw sIRda sreafaa
1 I T 2

(1) AT ==
(2) vRTEE 9
(3) Gifir e
(4) FA T
FHA-d fafa = e wegh foy fKaw
A W 2
(1) 12 51
2) 11~
(3) 13 5[
(4) 10 7
1500 g I AWl o & qAed |
fFg ¥ oo en ST wiew &
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(1) -
(2) S I HYR
(3) femmara w=w
(4) AET YEN
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45.

46.

47.

@

The mercury and sodium street lamps

light up because of :

(1) Electric obsorption
(2) Atomic obsorption
(3) Atomic emission

(4) Electron emission
Who invented the mobile phone ?

(1) Chuck Hull

(2) Raymond Samuel Tomlinson
(3) Martin Cooper

(4) Tim Berners-Lee

Which of the following colour of light
deviaties least through the prism ?

(1) Yellow
(2) Red

(3) Green
(4) Violet

‘Newton's Laws of Motion do not hold

good for objects :

(1) Atrest
Moving slowly

C)
(4)

Moving with higher velocity -

Moving with velocity comparable
to velocity of light

BLBHJ-EE-2017/500

45,

47,

48,
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(3) wwfras Iagst

(4) TEITRA Sousld
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(1) I+ B«

2) e due emfeas

(3) =T AR
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49,

50.

51.

52.

The Battle of Plassey was fought in :
(1) 1757
(2) 1782
3 1748
(4) 1764

Under Akbar, the 'Mir Bakshi' was
required to look after :

(1) Military Attairs

(2) The State Treasury

 (3) The Royal Houseold

(4) The Land Revenue System

Tripitakas are sacred books of :
(1) Hindus

(2 B.uddhists

(3) Jains

(4) None of the above

Who among the following rulers paid
considerable attention to irrigation

and public works ?

(1) Mohammal Bin Tughlaq
(2) Alauddin Khilji

(3) Firoz Shah Tughlaq

(4) Ghyasuddin Tughlaq

49,

50,

51,

52,

[C-11]

Al HT Y5 e TT=T T4 o
(1) 1757
(2) 1782
(3) 1748
4) 1764

AP FIRME & Iy § ‘1 gg9f
& HTH o972

1) & gaut s

(2) T & T9H &

(3) Wl WA & w@-T@E F
(4) TSTE-HT senfs a7
Thera foroet s qere €2
(1) fegen =t

2) drst =t

3) SifEr =

¢@) IR fafeq fFedt =} o 7

Frefefad fire s 3 o= sz 5
S AT Hart el # iy fasng
oM

(1) 959 99 qrere
(2) TSR faersit
(3) frast e gers

(4) TAGEE TR
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53.

b4.

- 55.

56.

Comets revolue around :
(1) Sun
(2) Earth
3

(4)

Venus

No single heavenly body

Which two planets of the solar system

have no statellites ?

(1) Mercury and Mars
(2) Mercury and Venus
(3) Venus and Mars

(4) Venus and Neptune

The mapping of which of the following
is most difficult ?

(1) Mountains

(2) Plateaus anﬂ plains

(3) Interim:' the earth

(4) Oceans and their depths

Which one of the following areas 18
dominant in hunting and gathering.
(1) Hot desert

(2) Cold desert

(3) Tropical forest

(4) Temperate grassland

BLBHJ-EE-2017/500

54,

55.

56.
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58.

59.

60.

The State of Jammu and Kashmir
was accorded special status under :

(1) Article 356 of the Constitution
(2)

3)

Article 370 of the Constitution

Article 356 and 370 of the

Constitution

None of the above

(4)
The concept of Public Interest
Litigation originated in:

(1) The United Kingdom

(2) Australia

(3) The United States

(4) Canada

The first Five Year Plan (1951-56)
was drafted by :

(- P.C Mahalanobis
(2) K.N.Raj

_(3) J. C. Kumarappa
(4) Jawahar Lal Nehru

India has:

(1) Socialistic Economy
(2) Gandhian Economy
(3) Mixed Economy

(4) Free Economy

o7,

58.

59.

60.

% 3rees 370

(3) Gfaum & w9 356 TS 370

(4) dfaam & sqfafaa &5 i w
gt fea & S gt qad
foqar wel 9

(1) e
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61. Mathematics : Logic :: Science : ? 61. UG : 9% :: fagE

(1) Experiment (1) 9Im
(2) Laboratory (2) gATRIE
(3) Facts (3) =
(4) Scientist (4)
62. Food : Stomach :: Fuel : ? 62, WINH : W i Fer : ?
(1) Plane (1) StETS
(2) Car (2) &R
(3) Scooter ' (3) WX
(4) Engine (4) $o
63. Blind : Visual :: Deaf:? 63. 3Tl : J@l :: WEY : ?
(1) Auditory (1) g
(2) Sound (2) E=
(3) Hearing (3) G H &
(4) Ears (4) FH
64. Fox : Cunning : : Rabbit : ? 64, WS : ACH :: TN 7
(1) Courageous (1) fewt
@ Timid (2) ST
(3) @aR

(3) Dangerous

(4) Ferocious (4) GER

BLBHJ-EE-2017/500 [C-14]



65.

66.

67.

68.

9:30 :: 7:? 65.

(1) 56
(2) 49
3) 50
(4) 42

Select the correct set of symbols which 5

will fit in the given equation : 5?0 ?
3?75=20.

1) x,x,x
62) ™ +a X
B x,+, x

(4) +’ o

If 'P' Stands for +, Q for —, R' for x 7.

and 'S' for +; which of the following is
correct ?

(1) 36R14S6Q7P4=18
20 16R12P49S7Q 9= 200
3 32S8R9=160Q 12R 12
49 8R8P8S8Q8=57

3,6,9, 15, 24, 39, 63, ? 68,

(1) 100
(2) 88
(3) 102

(4) 110

[C-15]

> 30 =Ty ¢
(1) 56
(2) 49
(3) 50
4) 42

i s eI sn s Em st s 20 2
3 725 =20 W g &l

D X, %, X

2 -+ x

-(3) X, +, X

(4) +! =

Az P w o R +,'Q W - R) x &R
'S'H ;A A B T S 22
(1) 36R14S6Q7P4=18

2 16R12P49S7Q9=200

3 32S8R9=160Q12R 12

(4) 8R8P8S8Q8=57

3,6,9,15,24,39,63, 7

(1) 100
(2) 88
(3) 102

(4) 110
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69. Find the missing number :

AT AT
TV \ 1Y
1 74
@ 84
®) 94
4) 104

70. Choose the odd one :
(1) Cube
(2) Square
(3) Triangle

(4) Rectangle

71. Choose the odd one :
(1) Lion
(2) Horse
(3) Zebra
(4) Tiger

72. If'pen'is 'table’, 'table'is 'fan' 'fan'is

'chair' and 'chair' is 'roof", on which a

person shall sit ?
(1) Fan

(2) Chair

(3) Table

(4) Roof

BLBHJ-EE-2017/500

70.

i

7

4) 104

fowm =1 g+ X
(1) =

(2) @i

@3) s

(4) TR

foum &1 gaa w1
(1) ;W

2) s

(3) S=U

(4) =i

2, qﬁswuﬁar%tﬂaumi%'swr
6t & ol ‘el ‘ma’ # @ ot e

T H3?



e e S TR R

73.

74.

75.

76.

In a certain code, DECEMBER is
Written ag ERMBCEDE. w hich word
will be written as ERMBVENOQ in
that code ?

(1) AUGUST

(2) SEPTEMBER

(3) OCTOBER

4) NOVEMBER

Which one of the following diagrams
represents the relationships of cows,
animals and goats ?

@D @) @
®3) @ @) @

X' walks southwards and then turns
right then left and then right. In
which direction is'X' moving now ?
(1) East (2) West

(8) North (4) South

—

Q0

A person walked 8 km towards west.

and turned right and walked 3 km.
Again he turned right ang walked 12
km. How far he is from starting point?

(1) 7km (2) 8km
(3) 5km (4) 6km

73. UF fafsyg BT Yy 5

74,

75,

76,

DECEMBER
F1 ERMBCEDE foreg ELIE-E
EEMBCEDE =7 &y ¥R ferar s
(1) AUGUST

(2) SEPTEMBER

(3 OCTOBER

(49) NOVEMBER

ﬁmﬁ@aﬁw—msﬂ%@m.wa’fﬁ
mﬁwﬁaﬁwﬁaméu

® 0o g ()
® @ @ (&)

'X'af&rwﬁahm%aﬂszw*

W?.me%aﬁvaaw'
eaa'X'ﬁmﬁwﬁ'aamé?

1) =@ (2) ¥
(3) I (4) gféqor




78.

79.

80.

In a class of 49 students, 'A'is the 17th
from top and 'B' is the 11th from
Bottom. If 'C' is exact middle of A and
B, then how many students are there
between B & C ?

@ 10

2 12

3 21

4) 6

What is the angle between hour and
minute hands of a clock at 12: 20 ?
(1) 120°

(2) 20°

(3 10°

(4) 110°

What was the day of week on 15th
August, 1947 ?

(1) Monday

(2) Friday

(8) Tuesday

(4) Saturday

A and B are sisters. R and S are

brothers. Daughter of A is sister of R.
How BisrelatedtoS?

(1) Mother

(2) Grand Mother
(3) Aunt

(4) Sister

BLBHJ-EE-2017/500

77.

78.

79,

80.

[C-18]

49 ﬁ'ﬂﬁ"’fl HI el 3? A" T T
SR 175F 91 B &1 A9 9 119 €
IR 'C'A' 3R B # ot wea | @
q€ 'B' iR 'C' & = fray femneff €2
(1) 10

@) 12

(3) 21

@ 6

T WE # W AR fae w1 g @
9 12: 20 99 HOT F BW?

(1) 120°

2) 20°

3) 10°

(4) 110°

15 SFTE, 1947 ! TWE H HHE-GI
e an?
(1) EHaR

(2) YHAX
(3) HIeEX
(4) fFEIR

A 3R B #&d §1 ReiR S 9 ¥ A &
it R 98 21 B S 4 fean =@ 22

(1) Hra
2)

@) go
(4) 5=




81. Total number of States in India are -

(1
(2)
@)
4)

29
27
25
21

82. Who was the first speaker of Lok

Sabha ?

(1) Sardar Hukam Singh
(2) Bali Ram Bhagat

(3) G.V.Mavalankar

(4) Sir Shadi Lal

83. How many official languages does

United Nations Organization (UNO)
have ?

(1) 6
@ 5
"3 10
4) 8

84. Which of the following Articles of the

Constitution of _India provides for
'Equal Justice and Free Legal Aid ?

(1) Article 39
(2) Article 39A
(3) Article 41
(4) Article 42

81.

83,

83.

84,

[C-19]

IRA | 6ol WY &:

(1) 29

(2) 27

(3) 25

@) 21

YRET Tk |9 % TUH 1eAey (T
S 47

(1) =R gwH fos

(2) aTeft T T

(3) St o, HEHT

(4) W IME o

2
1) 6
@) 5
(3) 10

4) 8

AR Hfeum & frefafed fra sm=ss
4 T = iR g I Fer w5
e 872

(1) 3AT=8T 39
(2) 3= 39(1)
(3) STT==% 41
(4) =0T 42
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86.

87.

88.

BLBHJ-EE-2017/500

Who 1s the guardian of fundamental 85,
rights enumerated in the Indian

Constitution ?

(1) Supreme Court
(2) Parliament

(3) Prime Minister
(4) President

The Head quarters of WTOisat: = 86.
(1) Geneva (Switzerland)

@ Washington D. C. (U.S.A)

(3) London (U.K.)

(4) Beijing (China)

The Chief Justice of India is : 87,

(1) Justice K.G. Bala Krishnan
(2) Justice S.H. Kapadia

(3) Justice J.S. Khehar

(4) Justice T.S. Thakur

"My Presidential Years' book was 88,
written by :

(1) Mulak Raj Anand
(2) R.Venkataraman
(3) A.P.J Abdul Kalam

(4) Pranab Mukherjee

[C-20]

R T A T R S [ A ST T

qRaE gfaam o w@ifas
e i €7

(1) S=UaH =

(2) &6

(3) 9u™ Tl

() T

fava SR WET F qEEd T
(1) SFer (wlesreis) A

() =f¥imes Shat. (i) o
@3) &7 (3. *.) ¥

(a) afdm () o

IRd & q& =y ¥

(1) wifed &, St qerRs

(2) Wifeg T TE. &wurfed

(3) Sifed 1. TH. @

(4) Sifew 4. ™. IEy

‘B geeafa U & 9Nl AHE TR @
qEE o

(1) e TSt A<

(2) AR, ITHeHA

(3) W . N Fa

(4) v s




89. Which amendment of the Constitution
of India inserted a new Article 21A
providing Right to Education ?

(1) 86th Amendment
(2) 87th Amendment
(3) 88th Amendment
(4) 89th Amendment

90. Who is the 21st Lt. Governor of
Delhi ?

(1) Tajendra Khanna
(2) Anil Baijal

(3) A.B. Singh

(4) Najeeb Jung

91. Whois the present Australian Prime
Minister ?

(1) Jullia Gillard

(2) Kelvin Rudd

(3) Malcolm Turbull
(4) None of these

92. The Earth Hour is observed on -
(1) May 25
(2) March 25
(3) February 25
(4) June 25

89. WRdIA WEwm % frw gy §
T AT 219 S T fawd fren
F1 AYSR F1 waiuE 22
(1) 8631 GEae
(2) 8781 WYY
(3) 88l HeluA
(4) 8997 TeMy
90. feeell % 214 su-vwergrer =i 272
(1) &= =1
(2) sifer Se
3) W 4. fgg
(4) T=ie
91. IR & AR guEE W 82
(1) Sfern freare
(2) Sl ®
(3) HITHH eXGge
(4) ®E ot 7

92, YS! S W A1 TR Wi 12

(1) 25 W%
(2) 25 94
(3) 25 WL
(4) 25 S
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Vi,

94,

95.

96.

Where in the headquarter of "The
Survey of India' Located ?

(1) Jaipur

(2) Dehradun

(3) Hyderabad

(4 New Delhi

P.M. Narendra Modi Inaugurated the
country's longest Chenani Nashri
Tunnel in which state ?

Himachal Pradesh
Kerala
Jammu & Kashmir

Jharkhand

India became a Republic on
D
@)
(3)
4

15 Aug, 1947
26 Jan, 1950
24 Nov, 1949

26 Jan, 1949

The head of the state in India is
(1) Prime Minister

(2) President

(3) Speaker of Lok Sabha

(4) - Chief Justice of India
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93.

94,

95,

96.

[C-22]

HRA 1 WA FT ey wet d
(1) S

@) FETH

(3) dewaTg

4) =¥ feweit

T HA TR A T e e o g
ﬁmﬁaﬁg@rﬁﬁwﬂaﬂ?ﬂa
feran 2

(1) femreer waw

(2) &Ta

(3) T FHR

(4) wrR@Evg

AR T T =
(1) 15 3714, 1947
(2) 26 SHaR, 1950
(3) 24 TR, 1949
(4) 26 SFa, 1949

AT T B G &
(1) 99 935}

(2) Tgafa
3) diF war F ey
(4) YRG & &I =ty




\ Por
ul.

98.

@

99.

100.

According to Indian Majority Act, a
major is a person who has attained
the age of :

ey
()
@)
4)

18 years
21 years
15 years
16 years

The World Environment Day is
observed on :

@
2)
©)

5th June
4th June
5th July
5th August

The minimum age for marriage is
that the boy must be_____and the

girl___.
1)
@)
3)
“

18 years, 21 years
21 years, 18 years
18 years, 18 years

18 years, 15 years

Who is the present Union minister of
Law and Justice ?

(1) P.Chidambaram
(2) Pranab Mukherjee

(3) Pawan Kumar

(4) Ravi Shankar Prasad

98.

93,

100.

[C-23]

b aiti N et e B e L b o b L G R R

YR % 3AH A % 38R U i
&% 99 €l 8 99 S| SH BN 6
(1) 18 4

(2) 21 9@

(3) 15 Hia

4) 16 9

forgs Tl e TN S €

(1) 5 A &1

(2) 4 A F

(3) 5 qA FH

(4) 5 ST H

oo @ & fau &9 9 9 9 a5
F__oiR T F___gl =T
(1) 18 @, 21 ¥

(2) 21 9, 18 9/
(3) 18 Wi, 18 |

(4) 18 9, 15 T

T §HA HA SN AW @ R HAl
HH 272

(1) @ TaeHa™

(2)mg@6ﬁ

(3) T FAR
(4) a v 9ER
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Who has won the 2017 French Open
Men's Singles Tennis Tournament ?

(1) Roger Federer

(2) Novak Djokovic

(3) Stanislas Wavrinka
(4) Rafael Nadal

Which Indian Personality has been
selected for France's highest civilian
award "Legion of Honour"?

(1) Amitabh Bachachan
(2) Shahrukh Khan

(3) Soumitra Chatterjee
(4) Kamal Hasan

The World Day Against Child Labour
is observed on which date ?

(1) June 12
(2) dJune 11
(3) June 13
(4) June 10

The Minsitry of Defence has planned
to set up its defence unit in which of
the following state at a cost of 1500
crore.

(1) Goa

(2) Jammu and Kashmir
(3) Himachal Pradesh
(4) Madhya Pradesh

1.

4,

[D-3]

T TN TN Ay F A R TR = A TR 1T

2017 1 %= TEU Uhe T i
forem S ?

(1) TSR HeW

(2) AEF TShIfah

(3) WEHEH AFeh]

(4) TS AL

wE % wares oifiw qEER e
SifF o’ & fou feg ardra wrefaa
1 g T 2

(1) sifaary ===

(2) TEEE @i

B I UGEIRCES]

(4) FOAA TEA

FH-d fafa A =@ wegd ey o
TR S €2

(1) 12 SH

(2) 11 3

(3) 13 91

(4) 10 [

1500 HAS . AN T e HAEH
fFg U9 T oA e fHE Wi Wl
A R 2

(1) T

(2) S T R
(3) femmra =9
(4) TE YT
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5. The mercury and sodium street lamps

light up because of :

oy
(2)
@)
(4)

Electric obsorption

Atomic obsorption

Atomic emission

Electron emission

6. Who invented the mobile phone ?
(1) Chuck Hull

@

()

4)

Raymond Samuel Tomlinson
Martin Cooper

Tim Berners-Lee

7 Which of the following colour of light

deviaties least through the prism ?

(1) Yellow
(2) Red

(8) Green
(4) Violet

8  Newton's Laws of Motion do not hold 8.

good for objects :

(1) Atrest
(2)
(3)

(4)

Moving slowly
Moving with higher velocity

Moving with velocity comparable

to velocity of light

BLBHJ-EE-2017/500

[D-4]

e ouiae s A S

(1) die

(2) oA

(3) BQ

(4) ST

=g 1 TR 1 frm e el W
& 2 )
(1) fasm st emaeen °§ 9%

(2) et T el a5

(3) e T At ]

(4) wehTeT T SEged g Tfa el




10.

e

12.

The Battle of Plassey was fought in :
(1) 1757
(2) 1782
(3) 1748
(4) 1764

Under Akbar, the 'Mir Bakshi' was
required to look after :

(1) Military Attairs

(2) The State Treasury

(3) The Royal Houseold

(4) The Land Revenue System

Tripitakas are sacred books of :
(1) Hindus

(2) Buddhists

(3) Jains

(4) None of the above -

Who among the following rulers paid

" considerable attention to irrigation

and public works ?

(1) Mohammal Bin Tughlaq
(2) Alauddin Khilji

(3) Firoz Shah Tughlaq

(4) Ghyasuddin Tughlaq

9,

10.

11.

12,

Al HT IS hA T A A
(1) 1757
(2) 1782
3) 1748
(4) 1764

HFHe FISYME & g § CHR TR’
T 1 HE AqT?

(1) = geeht

(2) T & GIAM

(3) YMEl A & T@-T@E &
(4) TSEE-HT 3AME AT
Jfcerra gt ufas Iws &2
(1) fegett =t

@) stsl =

3) St =

(4) TR fafaa fwer #1 ot =l

frefataa fra e - fo=rs sewen 9
v Tt wedft s @ ufq fas
e T

1) TR fod g
(2) STeTEea faesi
(3) fwust I et

(4) TAHEEH TTH
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14.

15.

16.

BLBHJ-EE-2017/500

Comets revolue around : 1
(1) Sun

(2) Earth

(3) Venus

(4) No single heavenly body

Which two planets of the solar system 14,

have no statellites ?

(1) Mercury and Mars
(2) Mercury and Venus
(3) Venus and Mars

(4) Venus and Neptune

The mapping of which of the following
is most difficult ?

(1) Mountains
(2) Plateaus and plains
(8) Interior the earth .

(4) Oceans and their depths

Which one of the following areas is

dominant in hunting and gathering.
(1) Hot desert

(2) Cold desert

(3) Tropical fore.st

(4) Temperate grassland

[D-6]

TR

QI

15.

16.

W RARRE R N R R T LT e

Tege Al HHAl B

(1) 9. % 91 3R

(2) o ® TR 3R

(3) I T8 & IR AR

(4) fFet ff T @ET ged W TR
R Hed & SH-9 F Te w © o
3uE T 772

(1) 95 T 97T T8

(2) I8 @ qF T

(3) Y T WA U

(4) Yk TS AT TG

et § @ fp 1 Wit T SEd
e €7

(1) wefa gen

(2) TSR W& HSH

(3) YAt | TEASIR ® A

(4) TS 9 IR T

fre o @ -9 & R 9 "R |§
@ B

(1) ™ TS

(2) 3T AEEAA

(3) 37 hicat I
(4) THINAST 19 TS




17. The State of Jammu and Kashmir

was accorded special status under :
(1
2
3)

Article 356 of the Constitution
Article 370 of the Constitution

Article 356 and 370 of the

Constitution

None of the above

(4)

18. The concept of Public Interest

Litigation originated in :
(1) The United Kingdom
(2) Australia

(3) The United States
(4) €anada

19. The first Five Year Plan (1951-56)

was drafted by :

(1) P.C. Mahalanobis

(2) K.N.Rgj

(3) J.C.Kumarappa

(4) Jawahar Lal Nehru

20. India has:

(1) Socialistic Economy
(2) Gandhian Economy
(3) Mixed Economy

(4) Free Economy

17.

18.

19:

20.

[D-7]

S Y~ P Eor o T T T T i

S 9 HYHR 1 favie TsE w1 =
feree @&a fhen gem &2

(1) dfaum & s =% 356

(2) WY & T 370

(3) dfaum = 1 =3% 356 T 370
(@) ST % STt @
et fod ® A geneuers gar
foar #al ¥ emn?

(1) ¥=is

(2) emefer

(3) iR

(4) HET

TN YEaNi AISH B TR fFE TOR
fepan?

(1) . . FEIEmtay

(2) . T. T

(3) S Hl. HARSTON

(4) SO A EE

aq o %\:

(1) HHSEmE] sTefeqawen

(2) Tifiard etefereren

(3) fafem arefeqaen

(4) 1 srefeaaeen
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21.

22.

23.

BLBHJ-EE-2017/500

Directions for questions 21 to 25 : 24,

In each tick the

question
appropriate word that is opposite

in meaning to the underlined woud.

He concealed his thoughts very
cleverly.

(1) emphasised
(2) hold
(3) revealed

(4) expressed

History abounds in instances of

courage.

(1) suffices
(2) fails

(3) shines

(4) lacks

He was deeply hurt by her curt reply.
(1) abrupt

(2) short

(3) expansive

(4) brisk

[D-8]

25.

26.

T T YA 47 T b T AN IR T

The leader handled the machine with
deft fingers.

(1) clumsy

(2) sully

(3) nimble

(4) delicate

His performance was captivating.
(1) poor

(2) boring

(3) mesmerizing

(4) inveigle

Directions for .questions 26 to 30:

Read each sentence and choose

the part with the error.

Ration has run out / and the officer /
A) (B)
has been informed.

©

O @
@ @B
3) (C)

(4) No error




27.

28.

29.

30.

I can’t come to you now / because a
(A)

lot of works / remains to be done.
(B) (©€)

@ @A

2 B

@) (©)

(4) No error

He, you and I/ shall manage / this

A) B)

problem together.
(©)

1 @A)

2 ®B)

3 (©)

(4) No error

Lime and soda / is/ a digestive drink.

) (B) ©)

1 @A)
2 B
@) (©)
(4) Noerror

My father is /in bad mood / today
(4) B) (©)

1 @A)
@ B
@ ©

31.

32.

33.

[D-9]

(4) No error

Directions for questions 31 to 35:
Fill in the blanks with the correct

option.

The Romans were__ science.
(1) bad at
(2) badto
(3) badin

(4) bad for

The cricket team mainly of

rural players.
(1) consist

(2) composed
(3) comprises

(4) None of the above

We must eliminate the rich

and poor.

(1) disparity for

(2) disparity between
(3) disparityin

(4) disparity from

BLBHJ-EE-2017/500
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34.

35.

36.

BLBHJ-EE-2017/500

Ilam fully.  the problems 37.

facing the industry.
(1) alive with

(2) alive to

(3) alive for

(4) alive on 38.

The lawyer lost confidence and
of the deal at the last

minute.

(1) backed on
(2) backed onto

(3) backed down 39.

(4) backed out

Directions for questions 36 to 40 :
In each question choose the
appropriate word that is closest
in meaning to the underlined

word. 40.

A wise man puts past rancour behind

and moves ahead.

(1) dislike

(2) bitterness
‘(3) criticism

(4) elimination
[D-10]

Jane 1s pretty insipid girl.
(1) clever
(2)
(3)
(4)

lazy
dull

lean

There was a signpost where the two
roads converge.

ey
(2) diverge

mtersect

(3) separate

(4) merge

He fell into an abyss of despair.
(1) well

(2) deep pit

(3) sea

(4) hollow

The Vice-Chancellor made a

perfunctory inspection of the Law
department.

(1) thorough
(2) perfect
(3) cursory

(4) all the above




41,

42,

43,

ot w0 fafa 2-

(1) 26 S

(2) 15 3=

(3) 14 faawr

(4) 2 3T

et &1 onfE <t ford W s 27 45
(1) et

(25 A

3) W

(4) 9w

‘g’ vl fHEd AW 9 e R

1 FT+9

2) % + 4

@ T+

4 %+

[D-11]

frafafas & 9 gs o= 2-
(1) o1
2) 3w
(3) 3T=

(4) =

frfafaa 4 9 snE o= 2
1) B
2) S
(3) Sirgait

(4) 9ol
‘erreifang’ w1 wEl whu-fassg 2-
(1) AWM + a1

(2) T + 9%

(3) 3MEMt: + T8

(4) 3R + @R
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47,

48,

19,

‘wEA’ H U ST -
(1) @

@

3) 7@

@) o

‘orEw’ W RE-E YT §?
1) &

(2) %

(3) mH

(4 T

‘oo’  ®F-w T @2
(1) =wHuRE

(2) Tged

@ f&1

(4) wesitfe
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52,

‘qdien’ veE -

(1) ™

(2) dg¥E

(3) 2=

(4) faeers

Fretferfian 2 e Wi 1 o FT-
(1) MeA

@ H8

(3) T

(4) AR

HH-TT I 3 H1 qAETE T 87

(1) 9

(@ shm
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(3) gy

(4) Sfa




53. FH-T WR HeUgH 1 VHEEET 87 57, (N W€ HH AR a0 €
S A (1) S g e

(3) TEER (4) TR ©2) BEBIE HT
54, ‘soor’ o fereim g 2- (3) R T¥9 I = fear
(4) HTE TR =R @

(1) fosq
58, dR @ 1 Tl W 2-

2) s

(1) faum=
(3) U

(2) =Y
b (3) 3R

55, ‘Sel # o el S’ W FEd ©- @) =

(1) SBUd 59.?—::&'& 73 it .
(2) TEEA (1) ST
4) EFFH’W! (3) T

(4) T9H

56, ‘2 e’ w1 e - |
60. ‘TwaEfEmEE’ fraes! wia €7

(1) &A™ HTA
| 1) ST
(@) for FRO e )
(2) SR
(3) Tedd H AT
3 W
(4) TRy U HEAT -
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61.

62.

63.

64.

Total number of States in India are :
(1) 29
@)
3)

(4)

27
25
21

Who was the first speaker of Lok
Sabha ?

(1) Sardar Hukam Singh
(2) Bali Ram Bhagat

(3) G.V.Mavalankar

(4) Sir Shadi Lal

How many official languages does
United Nations Organization (UN 0)
have ?

(1) 6
2 5
3) 10
4 8

Which of the following Articles of the

Constitution of India provides for
'Equal Justice and Free Legal Aid ?

(1) Article 39
(2) Article 39A
(3) Article 41
(4) Article 42

BLBHJ-EE-2017/500

61.

62,

63,

[D-14]

I H FHA T
(1)
(2)
3
4) 21

RETT S AT g aqezyer (TiteR)
B &2

(1) 9&R g fog

(2) 9l 9 W

(3) Sit. &t ArEerEy

(4) T ST A

IR W 9y FT fpa
&2

(1) 6

T e

@) 5
3) 10

4) 8

(1) 387 39
(2) T 39( 1)
(3) T3 41
(4) TT=sT 42




65.

66.

67.

68.

Who is the guardian of fundamental 65,

rights enumerated in the Indian

Constitution ?

(1) S_upreme Court
(2) Parliament

(3) Prime Minister
(4) President

The Head quarters of WTO is at - 66,

@
2
&)
(4)

Geneva (Switzerland)
Washington D. C. (U.S.A)
London (U.K.)

Beijing (China)

The Chief Justice of India is : o7,

(1) Justice K.G. Bala Krishnan
(2) Justice S.H. Kapadia

(3) Justice J.S. Khehar

(4) Justice T.S. Thakur

'My Presidential Years' book was 68.

written by :

(1) Mulak Raj Anand
(2) R.Venkataraman
(3) A.P.J Abdul Kalam

(4) Pranab Mukherjee

[D-15]

AT et | et siferrri o wver
FH 27

(1) =9 Iy

(2) H5

(3) 9T A3t

(4) eufa

fovg =R wreT w1 geren 2
(1) ST (T«ﬁmﬁg) 7.

(2) aMf¥Mes Ll (de) o

(3) &€ (g, &.) ¥
(4) fST (=F) o

IRA & G&I =AY ¥
(1) wfew =. St SRS
(2) vifed o, TS, sufear
3) vifew W wm. @t
(4) wfew 4. Ty, I
B wgla 9] ol T T %
dEE o '
(1) 7% T =<

(2) 3R AT

(3) T b. & 31gA HeH
(4) v s
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69.

70.

i

72.

Which amendment of the Constitution
of India inserted a new Article 21A

providing Right to Education ?
(1) 86th Amendment
(2) 87th Amendment
(3) 88th Amendment
(4) 89th Amendment

Who is the 21st Lt. Governor of 70.

Delhi ?

(1) Tajendra Khanna

(2) Anil Baijal

(3) A.B. Singh

(4) Najeeb Jung

Who s the present Australian Prime
Minister ?

(1) Jullia Gillard

(2) Kelvin Rudd

(3) Malcolm Turbull
(4) None of these

The Earth Hour is observed on :
(1) May 25

(2) March 25

(3) February 25

(4) June 25

BLBHJ-EE-2017/500

69. NG Hfaum & form doiye @ s

71.

72,

[D-16]

T ATB] 2137 e T e faen
1 YUFR T JI1aH 272

(1) 86aT G+

(2) 874 HemeA

(3) 88al HuNeA

(4) 89aT TNy

koot & 219 Iu-T9ae B 22
(1) T&=% =

) frer S

3) T . fog

(4) TSt ST

e & HieE yuEEst S 37
(1) Sfern fieene

(2) afed we

(3) WEThA XA

(4) HIE ot T

Yeat HeT @1 AT TAAT Sl 87
(1) 25 =

(2) 25 =

(3) 25 wLEd

(4) 25 5




73.

74.

75.

76.

Where in the headquarter of "The

Survey of India’' Located ?
(1) Jaipur

(2) Dehradun

(3) Hyderabad

(4) New Delhi

P.M. Narendra Modi inaugurated the
country's longest Chenani Nashri

Tunnel in which state ?

(1) Himachal Pradesh
(2) Kerala

(3) Jammu & Kashmir
(4) Jharkhand

India became a Republic on :

(1) 15 Aug, 1947
) 26 Jan, 1950
(3) 24 Nov, 1949

(4) 26 Jan, 1949

The head of the state in India is :
(1) Prime Minister

(2) President

(3) Speaker of Lok Sabha

(4) Chief Justice of India

73.

74,

73,

76.

[D-17]

ARG 1 ATV 1 AT Fal &/
(1) SR

(2) <

(3) TEE

(4) ¢ Freed

JUE T W W A fme = o g
1 FaY el GOt FeAe AR 6 e
ferar 2

) o= w_w

2) *

(3) 7 FIHR

(4) FREvS

qRA Tk 7oA S
(1) 15 3T, 1947
(2) 26 SHad, 1950
(3) 24 TR, 1949

(4) 26 SFEL, 1949

IRd 9 B JuH T
ORCEEE

(2) Tgafa
(3) @I T & Tt
(4) YRG & & =
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77. According to Indian Majority Act, a

major is a person who has attained

the age of :

(1) 18 years
(2) 21years
(3) 15 years
(4) 16 years

78. The World Environment Day is
observed on :

(1) 5th June -
(Z2) 4th June
(3) 5th July
(4) 5th August

79. The minimum age for marriage is
that the boy must be and the

girl___
(1) 18years, 21 years
(2) 21years, 18 years
(3) 18years, 18 years
(4) 18 years, 15 years
80. Whois the present Union minister of
Law and Justice ?

(1) P.Chidambaram
(2) Pranab Mukherjee

(3) Pawan Kumar

(4) Ravi Shankar Prasad
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77. Y =% AfUFEE % AR U s
= 9 T € S I@H! Y B B
(1) 18 @&
(2) 21 9@
(3) 15 9=
(4) 16 |

78. fava waterwr fiaw wmn i €:
1) 5 37
(2) 4 <7
(3) 5 a8 hi

(4) 5 STT&

79. fodE ® & fow &9 9 %7 g ae
FI___ 3R Teh! HI___ e =g
(1) 18 91|, 21 9T
(2) 21 &, 18 |
(3) 18 @, 18 &et
4 18 T, 15 9

80. TH WHE FHTH N = & HFT HA
S &7
(1) i fegwem
(2) TS @i
(3) 9T HAR

(4) {9 i 991g
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81.

82.

83.

84.

Mathematics : Logic :: Science : ? 81.
(1) Experiment

(2) Laboratory

(3) Facts

(4) Scientist

Food : Stomach :: Fuel:? 82.
(1) Plane

(2) Car

(3) Scooter

(49) Engine

Blind : Visual :: Deaf:? 83.
(1) Auditory

(2) Sound

(3) Hearing

(4) Ears

Fox : Cunning : : Rabbit : ?
(1) Courageous

(2) Timid

(3) Dangerous

(4) Ferocious

[D-19]

1 A & T 5
(1) &

(2) IR

(3) &g

(4) s

a1 : U2 i SUA ;7
(1')?'6'!?*[

2) FR

@) |H

(4) T

T ¢ S@ A8 ¢ ?
(1) g

2) STt

(3) G I &

@) FM[

84, WS : TENE :: G ?

(1) femmd
(2) =W
(3) WA

(4) GER
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85.

86.

87.

88.

20:30 =z 7:?
(1) 56
(2) 49
3) 50
(4) 42

Select the correct set of symbols which

85.

86.

will fit in the given equation: 5?0 ?

3725=20.
1 x,x,x

(2) o +: X )

@) X, +, X

(4) +1 ) X

If 'P' Stands for +, Q for —, 'R' for X
and 'S' for +; which of the following is
correct ?

(1) 36R14S6Q7P4=18
2 16R12P49S7Q9=200
(3) 32S8R9=160Q12R 12
(4) BR8P8S8Q8=57
3,6,9,15, 24, 39, 63, ?

1) 100

2 88

@) 102

4) 110

BLBHJ-EE-2017/500

87.

88,

[D-20]

S &30 w7 ¢
(1)
(2)
(3)
4)
i Etwa Fm e s 5 20 ?
3?25 =20 W &l &l

(1) x,x,X
(2) ) +, X
3) x,+, X

(4) +s e

afg Pt S ® +,'Q & —, (R) x 3R
'S' H ;< B & PH-T1 FUA 3 27
(1)
@)
3
4)

36R14S6Q7P4=18
16R12P49S7Q 9=200
32S8R9=160Q 12R 12
8R8P8S8Q8=57

3,6,9,15, 24, 39,63, ?
(1) 100

(2) 88
(3) 102

(4) 110




89.

90.

91.

92.

Find the missing number :

A AT
oA
(1 74

(2) 84

3) 94

(4) 104

Choose the odd one :
(1) Cube

(2) Square

(3) Triangle

(4) Rectangle

Choose the odd one :

(1) Lion

(2) Horse

(3) Zebra

(4) Tiger

If 'pen' is 'table’, 'table' is 'fan' 'fan' is

'chair' and 'chair’' is 'roof’, on which a
person shall sit ?

(1) Fan
(2) Chair
(3) Table
(4) Roof

89.

90.

21.

92,

q« He §ih FHA|

(A7
LT
O

(1) 74
(2) 84

(3) 94
(4) 104

forwm 1 o
(1) ¥

(2) =i -

3) Bt

(4)

form =1 g
(1) ;W

2) ™1

(3) S&U

(4) =ar

Elﬁ{ ‘Eh_('rq, lﬁaf % t.ﬁ\_ﬂn cq:@.[p %] 4@:

W &3M?
(1) d@n
(2)
(3) =

(4) =d
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93.

94.

95.

96.

In a certain code, DECEMBER is
written as ERMBCEDE. Which word
will be written asw in
that code ? |

(1) AUGUST
(2) SEPTEMBER
(3) OCTOBER
(4) NOVEMBER

Which one of the following diagrams
represents the relationships of cows,
animals and goats ?

m@@ @w@

@) @ @ @

X' walks southwards and then turns
right then left and then right. In
which direction is X' moving now ?
(1) East
(3) North

(2) West
(4) South

A person walked 8 km towards west
and turned right and walked 3 km.
Again he turned right and walked 12
km. How far he is from starting point?
(1) 7km

3) 5km

(2) 8km
(4) 6km

BLBHJ-EE-2017/500

93.

94,

95,

96,
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T fAf¥=a sig 91 § DECEMBER
%1 ERMBCEDE fomar sar 2

ERMBCEDE =T &1 31&5 e S|

(1) AUGUST

(2) SEPTEMBER
(3) OCTOBER

(4) NOVEMBER

fr= & @ wF-w emw T, Wy @R
THA B G HI TG FI B

3 @ (4) @

X gfRor H R werr € iR fiRe
ge@ €, TR ¢ g  SiX 99 )
= X forg feen o =« w1 22

1) 9@ 2) df=m

(3) I (4) =feo

we fed ufy=m &1 &R § . #. gea
? 3R T¢ gz s € e 3 fm A
e @1 IA: 9% ¢ qe 7 S 12
o, wer ?1 9% o e fag W
feram fo. . g0 = R

(1) 7 T4 (2) 8 fo.Ht
(3) 5 T4t (4) 6 f.Ht




97.

98.

99.

100.

In a class of 49 students, 'A'is the 17th
from top and 'B' is the 11th from
Bottom. If'C'is exact middle of A and
B, then how many students are there
between B & C?

(1) 10

(2) 12

@) 21

4) 6

What is the angle between hour and
minute hands of a clock at 12: 20 ?
(1) 120°

(2) 20°

3) 10°

4) 110°

What was the da&‘ of week on 15th
August, 1947 ?

(1) Monday

(2) Friday

(3) Tuesday

(4) Saturday

A and B are sisters. R and S are
brothers. Daughter of A is sister of R.

How Bisrelatedto S ?

(1) Mother

(2) Grand Mother
(3) Aunt

(4) Sister

97. 49 foenféral =1 wam ®, 'A' 1 A
S| Y 179 921 B &1 A= 9 119 2
3T IC! I.:.A.\’ e;ﬁ—( |Bl 3:1‘ W HEL i: %-'
9 'B' 3 'C' # = T fereneft w12
(1) 10
@) 12
(3) 21
(4) 6

98, TH WSl B W= N fige ® A B
=T 12: 20 G FHIU T EM?

1) 120°
(2) 20°
(3) 10°
4) 110°

99. 15 ST, 1947 W WEE H HIA-
fea an?
1) thﬁan?

(2) A
(3) WER
(4) oiFER

100. A @R B @&+ g1 R S o8 1 A
ot R 77 21 B S ¥ fzan #0182

(1) T
@) =
(3) g=

(4) =@gd
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